5F10 - Solve problems involving number up to three decimal places

[ ] + 100 = 0.184

What is the missing number?

[ ] x10 = 13.75

What is the missing number?

1mile = 1.609 km

How many kilometres in 10 miles?

[ 1 + 10 1.875

What is the missing number?

Bill does a 192.5km long charity walk.
It takes him 10 days to finish and he walks the same
distance each day.
How many kilometres does he walk in a day?

km

Erin's little sister is 0.893m tall.
In metres, how much more does she need to grow until
she is 1m tall?




